Comments from E. J. M. Veling (Referee)

Response:

We very appreciate Dr. Veling spending time in reviewing our article and providing
valuable suggestions. The article as attached has been revised based on his suggestion

and the corrections are listed as follows:

Correction List

Page 1408 | e line 25: Change “For more realistic case of a sloping beach... with
a sloping beach.” into “For more realistic case of beach
slopes,...with a sloping beach”.

Page 1409 | e line 5: Change “their model” into “their models”.

e line 5: Change “certain range of the beach slope” into “ a certain
range of the beach slopes”.

e line 9: Change “to” into “with”.

Page 1410 | e line 7: Add the dimension after h(x,t) and it should be h(x,t) [L]

e line 8: Replace “and” by “, which”.

e line 16: Add the dimensions after A, D, and @ and it should be
“A[L],DIL], @ [L]".

Page 1411 | e line 2, Eq. 6: Add “and” between
2 2
ne%:K (%j +(%) —K% and z=h.
ot OX 0z 0z

e line 8, Eq. 7: Add “and” between /1*:% and T =at.

o line9:Itshouldbe L= @.
\/ N,

e line 13, Eqg. 9 : Add “at” between @, =0 and Z=0.
e line 14, Eq. 10: Add “at” between ® =H and Z=H.
e line 16, Eq. 11: change @, into ®, andadd “atZ =H" after

this equation.

Page 1412 | e line 9: Add “where f is a dependent variable such as ® and H.
Delete “and” after this sentence.

o line15, Eq. 18a: &(X,Z,T)=> &"® (X,Z,T)

n=0




line 17, Eq. 18b: H(X,T)=>&"H (X,T)

n=0

Page 1413

line 12: Add “of” before «.

Page 1417

Figure 5a illustrates the differences between second-order « and
first-order o approximations for order &° when « =0.2 and
£ =03 and « =04 and & =0.5. As one can expect, the
difference increases with « and &. Figure 5b demonstrates
that the differences between second-order ¢ and first-order &
for order o is smaller than that between and second-order &
and zero-order & for order «® when both «=0.2 and £=0.3
and a=0.4and &=0.5.

Page 1418

line 4: Change “increase” into “increases”.
line 5: Change “semi-infinite” into “finite”.

lines 9-10: Revise this sentence as “Substituting Eqgs. 18a and 18b
into the governing Eq. 8, the boundary conditions in Egs. 9 and 10

leads to”.

Page 1419

line 4: Change “with respective to” into “with respect to”.

line 12: Modify this sentence as “Substituting Eq. (A6b) into
(A10) leadsto C, =0 and using (A6c) results in”

line 16: Delete “in Eq. (11)”

line 17, Eq. (A13): it should be @, =®; +®, ascot S sinT,

Page 1420

line 2, Eq. (A14): it should be

2(®y, + Dy ascot fsinT,) = DY +iq)§ -

2
&

Lo,
line 5, Eq. (A15): it should be

2[Hr, +&(Hyp, +acot B sinT,Ho, ) +&2(Hyr +acot B sinT,Hy, )+
=[HE +2eH, Hyy +&2[H2 +2Ho, (Hoy, +HoHoy Hoyo )]+ ]

1
+?(84H§X1X1H0 +..)
1
+87[82H0H0x1x1 +53(H1H0><1><1 + H0H1X1X1)+54(H2H0X1X1 +HHixx, + HoHoxx,

1
+ 2H02Ho><1H0x1x1x1 +§ H3H0x1x1x1x1)+---:|

line 14: add the reference “(Bruggeman, 1999)” after this sentence
“The general solution...”

line 15, Eq. (B1): it should be

Ho, = Im[A, exp((1+1) X, ) exp(iT,) + A, exp(—(1+1) X, ) exp(iT,)]




Page 1421 line 17, Eq (B8): it should be a, = <25 X +€XP(=Xp)
2(cosh X +cos X)
line 19, Eq. (B9): it should be a, = Sin X g
2(cosh X +cos X)
Page 1422 line 3: it should be “Dagan, G.”
line 19: Change “Ki” into “Li”.
Add the reference “Bruggeman, G. A.. Analytical solution of
geohydrological problems, Elsevier Science Ltd, 1999.”
Table 1 Some equations are modified to be more concise.

_cos Xy +exp(—Xyg)

' 2(cosh X, +¢0s X )
a = sin X,

2 2(cosh X, +cos X )

Ay

:%(515+§17)sin2ﬁXR

+%(516 +8,5)(e 2% —cosh2+/2X )

+sinh+/2X COS\/EXR[—(é'me_ZX“ —5,,67%%)siN2 X + (5,58 72" +5me””)c052XR]
—cosh\EXRsin\EXR[(ﬁwe‘“R +0,,67°%)cos2 X + (5,872 —5lsezxﬁ)sin2XR]
AZ

=—%(516+518)sin2ﬁXR

+%(§15 +5,,)(e 2 —cosh24/2X )

+sinh+/2X cosﬁXR[(dlse’sz +6,62%7) 052X + (5,68 " —518ezx'*)sin2XR]
+COSN2X o SN2 X ¢ [- (8,58 7% = 5,,67%%)SIN2X , + (8,58 7% +5,587**) COS2X , |
A3

= —%(522 +68,,)8in 242X

—%(521 +5,,)(e 2% —cosh24/2X )

+5INNV2X  COSV2X o [(5,08 %% — 5,,7%%)SiN X — (5 %" + 5,625 ) COs X ; |
+ OS2 X  SINV2X o [(5,08 7 + 8,,67%) €08 X o + (8,18 7% — 5,,67*)sin X |
A,

:%(521 +8,5)8iN24/2X

_1

2
—SINNV2X 5 COSV2X [(8,6 2% + 8,,67%) €08 X g + (52" — 85,5e7%)sin X |
+COShV2X g SINV2X g [(6,,6 7% — 5,,62%%)in X — (5,8 7 + 85,4677 ) COS X o]

(8, + 8) (€72 —cosh 24/2X )

Figure 1

The parameter “A” is added in Figure 1.
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Figure 1. The profile of tidal water table fluctuations in an oceanic island with sloping

beaches.
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Fig.5a. Differences between second-order « and first-order « approximations for
order & when (a,¢)=(0.2,0.3)and («r,¢) = (0.4, 0.5).
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Fig.5b. Differences between second-order ¢, first-order ¢ and zero-order &
approximations for order o when (a,&)=(0.2,0.3)and («,¢) = (0.4, 0.5).



Fig. 5b. Difference between second-order ¢, first-order & Oand zero-order ¢ for
order o® when (a,¢)=(0.2,0.3)and (a,s) = (0.4, 0.5).



